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Steps:
3.6 Radical Equations eps

1) Isolate the radical
Square Root Equations - 1 Root

2) Solve (eliminate the
ex: Solve. (REAL SOLUTIONS ONLY) radical)

3) Check for extraneous
D) Jx=542mT _

(\/ X—S 1);(53 Chei(%i_,;* N =7

X=S=2D @E:;+;
X=30 ha



ex: Solve.

b) 3Wx+2-4=-10
[x+2 =~ Chek! X

== 5 X“;;
X W
=2
Ny o }%



ex: Solve.

O 1-2Jx*=5x+15 ==5

VX=sx+/5 = 3
\-Sx+1S =9
Y¥—Sx+6=0D

/X= D=2 =O



Square Root Equations - More Than 1 Root

ex: Solve.

olEiba)  Fe T
-
SX= G = T%x—1 .

S =
, 1Y
¥ =



Steps

ex: Solve. 1) Put the radicals on

opposite sides of the equation

e) (\] ™ :; =/\l X ¥ 4 - 1) 2) Sgquare both sides

/—\ 3) Isolate the radical
N o |J - ()
x 5 >< =" (f 1)( X'f‘({ 4) Sgquare again

X,_} — y.i_ Lf ” m - X+y —+ ( 5) Solve, check for extraneous

T -
X'3:><+‘4~& ISR 2 W e~ /

QX+ =

\[S(T/—g 7 qu_ﬂ( =






ex: Solve. (5 6@5@— e
f) (\\/% xZSS 5{)(:;5 S

X = Q5= 1Dx+s + X+
IVxes =20 e, =
XS = 3 X=q



Nth Root Equations

ex: Solve.

NI2x+1-4=1

R

X+ 1= | QS
X=G2

Check for extraneous solutions
with even roots. Why?
The domain is not all reals.



ex: Solve.

) 1/5,[—_40; X LZ
Sx-4= X
s+ 4=C

(N~ =0=O

T+









If you take the even
root of both

ex: Solve: o e D& sides, it is just like
S O;(

Rational Exponent Equations

a2 al a square root
x so +/- will be
8-

W &g,‘ﬁ\% necessary




ex: Solve.

n) 3x”? —2 373

(Xaz) (;2 5>
X = ol

0) 4x° +5= 241




ex: Solve.

P 2(x+4)" +1=19

b, o
((X“O[ )1 (Cm ~4+ 27

Y= g2
+ A

NS



x: Solve.
©

] =3 7’ 3\»

5-3(2x- )

q) ((Qx ?> ( X Vﬂgb@n
Ng s9lwion









Graph square roots and cube roots with D and R
Inverse functions
verifying that functions are inverses
finding an inverse function
evaluating an inverse function (example f(2))
determine if a function has an inverse function
(HLT and VLT)
Solving radical equations
Solving fractional exponent equations



ex: Solve.

3/2
) X =x



REVIEW

ex: Sketch and state the domain and range in set notation.

y=-25-x



REVIEW

ex: Sketch and state the domain and range in set notation.

y=3J4x+1-2



REVIEW

ex: Solve.

V3x+6+3=+/3x+3+4






